Risolvere le seguenti equazioni:

B

loggx =5
log%x:9
47 =1

log%x:'?
5% =0
() =2
5

logz =2

logsx =6
log%x:7
log%xzf)
log%:r:i’)
loggz =5
logix:7
log,z =5
log%x:7
5" =6

Risposta: {log% 9}
Risposta: {85}

Risposta: { (%) ? }

Risposta: {0}

Risposta: {log% 7}
Risposta: {0}

Risposta: {log% 7}
Risposta: {(5)7}
Risposta: ()
Risposta: {log% 2}
Risposta: {62}
Risposta: {log% 2}

Risposta: {log% 9}

Risposta: {log%G}
Risposta: {3}
Risposta: { (3)}
'}
Risposta: {(I)"}
Risposta: {97}
Risposta: {(})"}
Risposta: {7°}

Risposta: { (%) ’ }

Risposta: {log; 6}

Risposta: { (

oW

Risposta: {logg 3}



